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VR in progress
refresher=uac (Ingress)
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VR done

Ringback leg is created

Ingress & Ringback legs are paired
refresher=uac (Ingress)

Ringback leg

Agent transfer
INVITE to CUCM

Ringback played
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200 OK (refresher=uac)

_, re-INVITE (session-timer header missing)

=
i
i
1
i
1
|
i
|
i
1
|
i
1
1
i
|
t
I
1
|
|
i
i
I
i
1
1
|
|
I
|
i
i
1
i
|
1
I
1
i
1
|
i
1
i

1
I
|
i
I
|
200 OK (refresher=uac) > :
I
ACK <
il
i ACK i
I
I
If there is no re-INVITE end to end after this:- \
1. CUCM side understands Ingress will refresh :
2. Ingress will not refresh :
3. After session-timer expires on CUCM side, :
CUCM will send BYE :
:
Ingress CvpP VxmIGw CUCM
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